1.5
1 Miles

Precinct 4204

1.2

0.9

L
Q x
g 3 <
o 8 w
o o
5 > @ & 5 N
o e s 8 2 0
% n p=1 m [ ~
S £ ] 5 £ 2
£ _”U g - T 02 = £3 ..
m © o > /2] = O 0 £ = ©
e 5 £ s g9 e £3 2
- U5 88 £5 g8 B
O EYQETD o ¥% Q
s 25Rpe £ 3w >
s =08 » @ F 29 -
EcwTehc @ 5 53 2]
90m S5woE m 5= “_a
[ =2 P o =] = [=2]
=2 SELO 5 2¢
Washington 3256g2 o8>
=0+~0wno 2 mm g
- 3AVHL693s | |
< 3V H1B9 IS J
\ M INVY H189 3¢ JAV H189 35 ]
o
3s | 2 -
T
b LH199 or | & o AVHLPO 35 INVHLTS |
- w 2} h
% I/ o & IAVHL99 35 |[i¢
{ = <
:0.@@ << 2 = B
> o) by Q
Sl 3 SNV HLp9 38 S =
& e - HEN G ESIT
AV @d€9 38 & 20 |0 |0 2 - 5 n
N —_
M_ll _ z m z c S| |3nviases s
3AVAaNZ93s S ) » £ T m < |x » | IAVaNZ9 3s
w 3V ANZO 3 z Sy % W JAY 1S9 3
(7] Q E < O I
5 oo |T wo|s AV H109 38
3NV 1S9 3S s I (%) 2 _
3NV HL09 38 Lt m— i 3NV H109 3S EINTICER
e = e ® 166 3S
| o — 7 55 2 INVH 3V H16G 35 SAVHI8S 55
o vhiesss | 3 (8 S @ FWHIEESS IAVHLES IS
S |3avHiss 3s | L = %3 2 JAVHLIS 3§
|2 516 15 > Lo = ANV HLLS 3S
g m W _m_ | B0 B« 3AV HL9S 38 3IAV H1SS 38
[a2] =
L N i et AV HLYS 38
Wy fw
O ln n
IV HLISS 33 INVHLYSIS |  3avaues IS JAV HLVS 3S SO TS _
< — = AV ANZS 38
3NV Ques[3s z % 2 -
JAV ANZS 38 > 3 3 >
. ] —  FAVisig3as = z ERASEES &
_ w O 3 E » b S
N o s > = w o
B _ S w w 3V HL0S 3S 5 7 a
@ =l » %] O <
Z[ 3AVH10S 35 < o & 3NV HI6Y 35 E
< = INVHIeY IS |5 ol |, gy/as
7 2 1 ] e 3NV HL8y 3S G IAvHLey 35|  IAVHIBY IS o)
< INVHI8Y IS |Z F O|gay HL/b IS o)
o INVHIL3S 1 BS = F[ 3AVHIZv3S =
L S =t = © W
o INVHLOY IS | & Q » @ @
AV H1ZY 3S o Wi vV Hi9y 3S & Z Q
_ w ? < D
7 n_\lu M m
INJHISY 3§ ~ z ~
mﬁq 2 S e el =
e = 7] W
w>< V.E% 3s 29 o w O INY a¥Ey 3
wl &0 n
g 8 \ 2
& (Ol | | =3 - INVaNZy IS b Z Z |5
X NK,u ~ ol W (%) = = b m w
5 |5 [0 |0 8| 3avisivas 2 < z Z
(%)) o o = <
T |w (W w EN\/ S D I o Q |0 |o
o |z |?|°y = IAVVHLOY IS X h 2 |y |Q
< |z . < < 4 [3AVIHLO w (6 |2
a4 » b w _ wl GA18 ZIAVHO 3 ¥v$30 S r&
9 < = W ==
-
> H s oy = ()R]
INV|HL8E 3 S 2 EpAVHIESS| (2 7 0V H1se IS
b b9 7 g < - w IVHLETS |
2 5 w T | w o | = EE a
Sz P 2 7 IWHEIS 5| o Eg x
o | (3 » | w < w | 2 nS INVHL9E IS [S
> w [} — 7Y - T (%) x ) o
a— = IAV[H19E 35 w
& z |2 T t ol o & | qAlseIs S
v < X ]2 s Id H1Sg3s | W 2 2 s
< = 5 = < v H1GE 36 - < z| 3AVHIse3as |3
o w b f i IAVHLSE 3¢ 2 z |9 »
w 7 @ ® 3 = & 2]
_AM 1da mm 3S _& n><T._..vmuw w _._D._ d avee 3s
> JNV ayee 3 o IAVA w %)
z S 3pvades3s ®
S| avanee3s | W 7d ANZE 3 J k= INv|auEE IS |
< ] 3AV dNee 3S o s
gl awvisiess | S AW » IAVaNZERS | z
@ 2 3 T BAvisieds, 2
- (%)
1d Hlg 35 IAV 1S1E 35 5 e S
= [ [ * z 4
n (79) < m
W (2} i = @) ]
z z n Z = ) 3NV H16Z 38 w Q w
I s ot 7 "
L O] ™ LLl
2 K_ Z 9 L <
< = - %) —J 14
< 2 vV H18Z 3
i & < IAY 1.2 BS & WAy MLz bs AV HL
INVHLLZSS| w

0.6

0.3

0.15




